Algebraic and Geometric Methods
in Engineering and Physics

Homework 8

Due on November 22

1. Compute the characters of the representations of the group Dy = {e, r, 72,73, s, s7, 512, 513}
defined as follows:

(a) ot =l =
(b) o =1, o = -1
(0) ot = -1, 9" =1
(d) (Pr4) = 9024) = -1
0 -1 1 0
(&) o7 = o =
1 0 —1
0 0 01 1 0 00
1 0 00 0 0 01
(f) 1/’7* = 1/15 =
01 00 00 10
0 010 01 00

2. Using the characters computed in the previous question, show that:

(a) @(1)' 90(2), <P(3), cp(4) and cp(5) are irreducible;
(b) ¥ ~ M @ p® @ ).



